A UTTLE BIT OF MATHS EVERY DAY ... (Numser skiLLs)

MonpaY | TUEsDAY | WEDNESDAY | THURSDAY FRIDAY SATURDAY | SUNDAY
1 2 2800 3
What is A box contains 2 8 kg of washing powder.
o tle o) Jjoke uses 5 grams of powder for each wash.
MARCH 2019 10% of 4 million e uses el the powder,
OO, 60O How many washes did jake do?
453..
432 % x = 23[3 5 6 7 8 9 10
Calculate & ‘'What is ? Which is larger Whats the missing Work out Rich says that a cube has the same number of
o 17 3 60% of 40 oray number? 24+05 vertices as edges.
== 12 -1 40% of 607 % ~15=702 Is he correct. Explain your answer
— = o e
100 100 & 4 16 0 ' K3 ET bees.  dopre howe b e
25/ %"e' the_somae. T3 8verbices.  ad 8w MU
1 12 13 14 15 16 17
Put these numbers in size Calculate Round 468 to the Simplify work out Jjulia has 2 litres of orange juice.
order (smallest first) - 8 She pours this into glasses that hold 175ml.
3.7603.076 3.670 3.070 954+6 nearest 100 32 L;_l_l_ 18 x 27 P ’ _
] -—5’ 3 How many glasses can she fill?
3-67,5-016,3-6% 1SL 5060 248 I86 accoL.
336 1352 % (e
18 19 0 n n ~ B M
What is What is Calculate 2Calcu|at€ What number is 50 2 _V\Eh;n;'n;rlb'e‘:s‘&re common fa;t:r;of 12 and 187
7 = - 150 g l—l poeTe
12x06° 0'03 X 0'2? 15% Of 56 5°- (49 - 7) times greqter than a V\;Ehazt~ r‘?r.ﬁ‘eqlo:veest common multiple of 12 and 187
EX) 0-066L gL, 25-3 9? 12, 214 36 2L
= Lg LSO 18, 36
5 26 -3 27 28 9 30 31
What is 55% of 4007 | Round 10489 to S What is What is Calculate ags+6 A f‘;"'"’&" ;‘5 packing eggs.
< . . B Each box holds six eggs.
12%: _L;_g the nearest 1000 f 35.28 249 + 1007 150 =+ 25 ofFoZ  The farmer has 980 eggs to pack.
) Q—‘Q’O =0 = How many boxes does he need?
562 < 200 10,000 5 -4 6 163 15 not enooge to L neectach .
163 ¢ 2vro box

REMEMBER: THE BEST WAY TO REVISE MATHS IS TO "DO MATHS"!
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